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1. C∂sØ ]mT`mKØns‚ t]sc¥mWv?

A. ssZhØn\p kvXpXn
B. ssZhw \tΩmSp IqsS
C. ssZhw a\pjys\ kr„n®p

2. kr„nIfmb a\pjy¿  BscbmWv Ft∏mgpw kvXpXn®ncp∂Xv?

A. amemJamsc
B. ssZhsØ
C. hnip≤sc

3. ssZhsØ kvXpXn°p∂Xv Fßs\?

A. {]m¿∞\IfneqsSbpw KoXßfneqsSbpw
B. Bcm[\bneqsS
C. hnip≤ Ip¿_m\bneqsS

4. F¥n\mWv a\pjy¿ ssZhsØ kvXpXn®Xv?

A. arKßsf  \¬InbXn\v
B. at\mlcamb {]]©w \¬InbXn\v
C. BImiw \¬InbXn\v

5. a\pjykvXpXn°v tbmKy\mbh≥ BcmWv?

A. ssZhw
B. hnip≤¿
C. amemJam¿

6. BtcmSv IqsS tN¿∂mWv \mw ssZhsØ kvXpXnt°≠Xv?

A. k\ymkn\nIƒ
B. amemJam¿
C. sshZnI¿
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7. \ap°v  e`n°p∂  sNdpXpw hepXpamb  F√m A\p{Klßƒ°pw  \Ωƒ ssZhtØmSv
................

A. \µn ]dbWw
B. {]m¿∞n°Ww
C. A\pkcWbp≈hcmbncn°Ww

8. ""I¿Ømhns\ kvXpXn°phn≥, AhnSp∂v \√h\mWv.'' hN\`mKw GXv?

A. k¶o¿Ø\w 135 : 3
B. k¶o¿Ø\w 130 : 2
C. k¶o¿Ø\w 135 : 8

9. Nncn°phn≥  ]mSphn≥ BSn]mSn ckn°phn≥. BcmWv  \ΩpsS  IqsSbp≈Xv?

A. hnip≤¿
B. \√h\mb ssZhw
C. amXm]nXm°ƒ

10. kz¿KØn¬ ssZhsØ kvXpXn°p∂Xv Bcv?

A. amemJam¿
B. hnip≤¿
C. ]cnip≤ adnbw
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